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    01 : det(A) = 23                          02 : det(B) = 10  
    03 : det(C) = 30                          04 : det(D) = -37 
    05 : det(E) = 26                          06 : det(F) = 0   
    07 : m*det(C)-det(pE) = -88               08 : det(m*D)-p*det(F) = -592
    09 : x = 3                                10 : y = -4   
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    12 : det(A) = -6     x = 7      y = -3    
    13 : det(A) = 11     x = 5      y = -3    
    14 : det(A) = -2     x = 3      y = 5      z = 8     
    15 : det(A) = 2      x = -4     y = -3     z = -5    
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    01 : det(A) = -12                         02 : det(B) = 20  
    03 : det(C) = 17                          04 : det(D) = 90  
    05 : det(E) = 126                         06 : det(F) = -9  
    07 : m*det(C)-det(pE) = -58               08 : det(m*D)-p*det(F) = 1449
    09 : x = 3                                10 : y = 2    
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    12 : det(A) = 10     x = -6     y = 2     
    13 : det(A) = -9     x = 3      y = -7    
    14 : det(A) = -8     x = 7      y = 5      z = 4     
    15 : det(A) = 12     x = 3      y = 7      z = -8    
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6700311-00003XX
 Matrices02 Answers for No.9873
 ExerciseMatrices02 Answers for No.9873
    01 : det(A) = -11                         02 : det(B) = -17 
    03 : det(C) = -44                         04 : det(D) = 140 
    05 : det(E) = -60                         06 : det(F) = -90 
    07 : m*det(C)-det(pE) = 3708              08 : det(m*D)-p*det(F) = 1620
    09 : x = 3                                10 : y = 3    
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    12 : det(A) = -1     x = 8      y = 3     
    13 : det(A) = -6     x = -2     y = 4     
    14 : det(A) = 10     x = 3      y = 7      z = -4    
    15 : det(A) = 4      x = 7      y = -2     z = -3    
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    01 : det(A) = 8                           02 : det(B) = -16 
    03 : det(C) = 2                           04 : det(D) = 40  
    05 : det(E) = 22                          06 : det(F) = -70 
    07 : m*det(C)-det(pE) = -586              08 : det(m*D)-p*det(F) = 850 
    09 : x = 3                                10 : y = 4    
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    12 : det(A) = 6      x = -2     y = 8     
    13 : det(A) = 16     x = -6     y = -7    
    14 : det(A) = 11     x = -2     y = 8      z = 3     
    15 : det(A) = 8      x = 5      y = -6     z = 4     
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    01 : det(A) = -11                         02 : det(B) = 19  
    03 : det(C) = -6                          04 : det(D) = 163 
    05 : det(E) = -90                         06 : det(F) = 56  
    07 : m*det(C)-det(pE) = 78                08 : det(m*D)-p*det(F) = 596 
    09 : x = -3                               10 : y = -4   
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    12 : det(A) = -9     x = -7     y = -4    
    13 : det(A) = -11    x = -6     y = 8     
    14 : det(A) = 2      x = 3      y = -4     z = -2    
    15 : det(A) = 1      x = -3     y = -7     z = 5     
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    01 : det(A) = 17                          02 : det(B) = -23 
    03 : det(C) = -104                        04 : det(D) = 40  
    05 : det(E) = 36                          06 : det(F) = 38  
    07 : m*det(C)-det(pE) = -1388              08 : det(m*D)-p*det(F) = 526 
    09 : x = 3                                10 : y = 4    
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    12 : det(A) = 16     x = -3     y = 4     
    13 : det(A) = -2     x = 3      y = 6     
    14 : det(A) = -9     x = -2     y = 5      z = -3    
    15 : det(A) = -3     x = -2     y = 6      z = -7    
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    01 : det(A) = 18                          02 : det(B) = -14 
    03 : det(C) = -74                         04 : det(D) = -72 
    05 : det(E) = -33                         06 : det(F) = -21 
    07 : m*det(C)-det(pE) = 1964              08 : det(m*D)-p*det(F) = -204
    09 : x = 3                                10 : y = 3    
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    12 : det(A) = -10    x = -5     y = 4     
    13 : det(A) = -4     x = -2     y = -8    
    14 : det(A) = 10     x = -5     y = 8      z = -4    
    15 : det(A) = -3     x = -2     y = 3      z = -4    
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    01 : det(A) = 17                          02 : det(B) = 9   
    03 : det(C) = 18                          04 : det(D) = -8  
    05 : det(E) = 4                           06 : det(F) = 76  
    07 : m*det(C)-det(pE) = 22                08 : det(m*D)-p*det(F) = -224
    09 : x = 2                                10 : y = 2    
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    12 : det(A) = -1     x = -6     y = -5    
    13 : det(A) = -26    x = 8      y = -3    
    14 : det(A) = 2      x = -2     y = 8      z = 7     
    15 : det(A) = 3      x = 3      y = -2     z = 7     
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    01 : det(A) = -17                         02 : det(B) = 10  
    03 : det(C) = -21                         04 : det(D) = -136
    05 : det(E) = -36                         06 : det(F) = 48  
    07 : m*det(C)-det(pE) = 2241              08 : det(m*D)-p*det(F) = -1416
    09 : x = 2                                10 : y = -3   
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    12 : det(A) = -12    x = 3      y = -8    
    13 : det(A) = -10    x = 5      y = -3    
    14 : det(A) = -7     x = 5      y = 3      z = 7     
    15 : det(A) = -6     x = -2     y = -4     z = 6     
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    01 : det(A) = 10                          02 : det(B) = 14  
    03 : det(C) = -47                         04 : det(D) = -80 
    05 : det(E) = 88                          06 : det(F) = 77  
    07 : m*det(C)-det(pE) = -182              08 : det(m*D)-p*det(F) = -397
    09 : x = -4                               10 : y = -3   
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    12 : det(A) = 7      x = -2     y = -7    
    13 : det(A) = -16    x = -5     y = -8    
    14 : det(A) = -11    x = 3      y = -5     z = -7    
    15 : det(A) = 21     x = -8     y = -3     z = -2    
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    01 : det(A) = -9                          02 : det(B) = -22 
    03 : det(C) = 60                          04 : det(D) = 162 
    05 : det(E) = 26                          06 : det(F) = 36  
    07 : m*det(C)-det(pE) = 94                08 : det(m*D)-p*det(F) = 612 
    09 : x = 2                                10 : y = 2    
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    12 : det(A) = -6     x = -7     y = 5     
    13 : det(A) = -15    x = -7     y = 4     
    14 : det(A) = 4      x = 7      y = 6      z = 3     
    15 : det(A) = -7     x = -7     y = -8     z = 3     
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    01 : det(A) = -18                         02 : det(B) = 21  
    03 : det(C) = -96                         04 : det(D) = -149
    05 : det(E) = 80                          06 : det(F) = 12  
    07 : m*det(C)-det(pE) = -464              08 : det(m*D)-p*det(F) = -2396
    09 : x = -3                               10 : y = 3    
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    12 : det(A) = 6      x = -7     y = -5    
    13 : det(A) = 12     x = 6      y = 2     
    14 : det(A) = 5      x = -5     y = -3     z = -2    
    15 : det(A) = 9      x = 5      y = 3      z = 7     
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    01 : det(A) = -18                         02 : det(B) = 7   
    03 : det(C) = 3                           04 : det(D) = 142 
    05 : det(E) = 6                           06 : det(F) = 21  
    07 : m*det(C)-det(pE) = -381              08 : det(m*D)-p*det(F) = 58  
    09 : x = -3                               10 : y = -3   
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    12 : det(A) = 5      x = 6      y = -5    
    13 : det(A) = 21     x = -6     y = 7     
    14 : det(A) = 8      x = 4      y = -6     z = -2    
    15 : det(A) = -2     x = -2     y = -6     z = -3    
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    01 : det(A) = -23                         02 : det(B) = 17  
    03 : det(C) = -49                         04 : det(D) = -72 
    05 : det(E) = -24                         06 : det(F) = -60 
    07 : m*det(C)-det(pE) = 599               08 : det(m*D)-p*det(F) = 108 
    09 : x = -4                               10 : y = 3    
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    12 : det(A) = 8      x = -6     y = -8    
    13 : det(A) = -3     x = -2     y = 4     
    14 : det(A) = 3      x = 2      y = -3     z = 4     
    15 : det(A) = 18     x = 3      y = -7     z = -2    
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    01 : det(A) = 10                          02 : det(B) = -10 
    03 : det(C) = 29                          04 : det(D) = 8   
    05 : det(E) = -70                         06 : det(F) = 8   
    07 : m*det(C)-det(pE) = 4509              08 : det(m*D)-p*det(F) = -24 
    09 : x = -4                               10 : y = -2   
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    12 : det(A) = 6      x = 4      y = -7    
    13 : det(A) = 7      x = -3     y = -2    
    14 : det(A) = -10    x = -5     y = -3     z = 8     
    15 : det(A) = 4      x = 6      y = 5      z = -2    
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    01 : det(A) = -15                         02 : det(B) = -18 
    03 : det(C) = -88                         04 : det(D) = -10 
    05 : det(E) = 54                          06 : det(F) = -42 
    07 : m*det(C)-det(pE) = -230              08 : det(m*D)-p*det(F) = 2   
    09 : x = -3                               10 : y = 2    
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    12 : det(A) = -3     x = 7      y = 2     
    13 : det(A) = 5      x = 5      y = 2     
    14 : det(A) = -3     x = -5     y = -3     z = -8    
    15 : det(A) = -16    x = -6     y = 4      z = -7    
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    01 : det(A) = 8                           02 : det(B) = -22 
    03 : det(C) = 48                          04 : det(D) = -220
    05 : det(E) = 130                         06 : det(F) = -34 
    07 : m*det(C)-det(pE) = 14                08 : det(m*D)-p*det(F) = -1946
    09 : x = 2                                10 : y = 3    
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    12 : det(A) = -13    x = 3      y = -8    
    13 : det(A) = -23    x = 6      y = 2     
    14 : det(A) = 7      x = -4     y = -3     z = 5     
    15 : det(A) = 4      x = -7     y = -8     z = 6     
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    01 : det(A) = 10                          02 : det(B) = 14  
    03 : det(C) = -18                         04 : det(D) = -72 
    05 : det(E) = -6                          06 : det(F) = -30 
    07 : m*det(C)-det(pE) = 144               08 : det(m*D)-p*det(F) = 18  
    09 : x = -3                               10 : y = 3    
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    12 : det(A) = 2      x = 3      y = -4    
    13 : det(A) = -19    x = -7     y = 4     
    14 : det(A) = -24    x = -8     y = -2     z = 6     
    15 : det(A) = 9      x = 3      y = 6      z = -7    
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    01 : det(A) = -22                         02 : det(B) = -23 
    03 : det(C) = -43                         04 : det(D) = 37  
    05 : det(E) = -55                         06 : det(F) = 24  
    07 : m*det(C)-det(pE) = 1399              08 : det(m*D)-p*det(F) = 76  
    09 : x = -2                               10 : y = 3    
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    12 : det(A) = -19    x = 2      y = 7     
    13 : det(A) = -2     x = -8     y = -3    
    14 : det(A) = 10     x = 2      y = -5     z = -8    
    15 : det(A) = 2      x = -3     y = -2     z = -6    
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    01 : det(A) = 19                          02 : det(B) = 21  
    03 : det(C) = 3                           04 : det(D) = -26 
    05 : det(E) = -110                        06 : det(F) = -116
    07 : m*det(C)-det(pE) = 2976              08 : det(m*D)-p*det(F) = 244 
    09 : x = 4                                10 : y = -2   
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    12 : det(A) = 1      x = 3      y = -8    
    13 : det(A) = 17     x = -5     y = -7    
    14 : det(A) = -9     x = 2      y = -4     z = -8    
    15 : det(A) = 10     x = 8      y = 2      z = -3    
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    01 : det(A) = 15                          02 : det(B) = 22  
    03 : det(C) = 30                          04 : det(D) = -60 
    05 : det(E) = -27                         06 : det(F) = -12 
    07 : m*det(C)-det(pE) = 789               08 : det(m*D)-p*det(F) = -204
    09 : x = 4                                10 : y = 3    
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    12 : det(A) = -27    x = -7     y = 8     
    13 : det(A) = 30     x = 3      y = 2     
    14 : det(A) = -5     x = 3      y = -2     z = -8    
    15 : det(A) = 16     x = -2     y = -3     z = -8    
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    01 : det(A) = -22                         02 : det(B) = 14  
    03 : det(C) = -10                         04 : det(D) = 39  
    05 : det(E) = -16                         06 : det(F) = -72 
    07 : m*det(C)-det(pE) = -14               08 : det(m*D)-p*det(F) = 423 
    09 : x = 4                                10 : y = -4   
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    12 : det(A) = 11     x = -8     y = 4     
    13 : det(A) = 2      x = -5     y = 8     
    14 : det(A) = 3      x = -2     y = 3      z = -5    
    15 : det(A) = -24    x = 2      y = 3      z = 6     
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    01 : det(A) = 22                          02 : det(B) = -10 
    03 : det(C) = 57                          04 : det(D) = -60 
    05 : det(E) = -51                         06 : det(F) = -34 
    07 : m*det(C)-det(pE) = 279               08 : det(m*D)-p*det(F) = -926
    09 : x = -4                               10 : y = 2    
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    12 : det(A) = 5      x = -8     y = -7    
    13 : det(A) = 13     x = 2      y = 6     
    14 : det(A) = 1      x = -6     y = -5     z = -2    
    15 : det(A) = -13    x = -5     y = -4     z = -7    
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    01 : det(A) = -16                         02 : det(B) = -20 
    03 : det(C) = -56                         04 : det(D) = 85  
    05 : det(E) = 12                          06 : det(F) = 0   
    07 : m*det(C)-det(pE) = -264              08 : det(m*D)-p*det(F) = 765 
    09 : x = -3                               10 : y = -4   
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    12 : det(A) = -32    x = 5      y = 3     
    13 : det(A) = -4     x = -3     y = -7    
    14 : det(A) = 6      x = 3      y = -7     z = -5    
    15 : det(A) = -2     x = -3     y = 4      z = 8     
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    01 : det(A) = 22                          02 : det(B) = -9  
    03 : det(C) = 31                          04 : det(D) = -30 
    05 : det(E) = 0                           06 : det(F) = 2   
    07 : m*det(C)-det(pE) = 31                08 : det(m*D)-p*det(F) = -34 
    09 : x = -2                               10 : y = -3   
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    12 : det(A) = -1     x = 4      y = 7     
    13 : det(A) = 17     x = 8      y = -6    
    14 : det(A) = -7     x = 2      y = 6      z = -5    
    15 : det(A) = -31    x = 2      y = 7      z = -4    
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    01 : det(A) = 20                          02 : det(B) = 23  
    03 : det(C) = -77                         04 : det(D) = 56  
    05 : det(E) = 0                           06 : det(F) = -9  
    07 : m*det(C)-det(pE) = -231              08 : det(m*D)-p*det(F) = 513 
    09 : x = 2                                10 : y = -2   
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    12 : det(A) = -10    x = 7      y = 4     
    13 : det(A) = 14     x = -8     y = 6     
    14 : det(A) = 12     x = 5      y = -3     z = 4     
    15 : det(A) = -15    x = -4     y = -2     z = 3     
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    01 : det(A) = 16                          02 : det(B) = -20 
    03 : det(C) = -18                         04 : det(D) = -139
    05 : det(E) = 0                           06 : det(F) = -48 
    07 : m*det(C)-det(pE) = -72               08 : det(m*D)-p*det(F) = -2128
    09 : x = 3                                10 : y = -4   
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    12 : det(A) = 10     x = -5     y = 3     
    13 : det(A) = -16    x = -3     y = 4     
    14 : det(A) = 6      x = -7     y = -5     z = 6     
    15 : det(A) = -14    x = 8      y = 5      z = -2    
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    01 : det(A) = -16                         02 : det(B) = 23  
    03 : det(C) = 74                          04 : det(D) = 18  
    05 : det(E) = -8                          06 : det(F) = 52  
    07 : m*det(C)-det(pE) = 290               08 : det(m*D)-p*det(F) = -138
    09 : x = 3                                10 : y = 2    
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    12 : det(A) = 9      x = 5      y = -6    
    13 : det(A) = 15     x = -6     y = -3    
    14 : det(A) = -8     x = -2     y = 6      z = -5    
    15 : det(A) = 21     x = -2     y = 6      z = 4     
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    01 : det(A) = 19                          02 : det(B) = -20 
    03 : det(C) = -40                         04 : det(D) = 8   
    05 : det(E) = -40                         06 : det(F) = -136
    07 : m*det(C)-det(pE) = -80               08 : det(m*D)-p*det(F) = 208 
    09 : x = 3                                10 : y = 3    
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    12 : det(A) = -2     x = -5     y = -2    
    13 : det(A) = -18    x = 2      y = 6     
    14 : det(A) = -6     x = 4      y = 8      z = -5    
    15 : det(A) = 1      x = -8     y = -4     z = 5     
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    01 : det(A) = -23                         02 : det(B) = -20 
    03 : det(C) = -55                         04 : det(D) = -62 
    05 : det(E) = 45                          06 : det(F) = 20  
    07 : m*det(C)-det(pE) = -415              08 : det(m*D)-p*det(F) = -102
    09 : x = -3                               10 : y = -4   
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    12 : det(A) = 8      x = -4     y = -6    
    13 : det(A) = 36     x = 4      y = -6    
    14 : det(A) = 8      x = 6      y = 3      z = 8     
    15 : det(A) = 1      x = -8     y = -7     z = 4     
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    01 : det(A) = 12                          02 : det(B) = -14 
    03 : det(C) = 10                          04 : det(D) = 147 
    05 : det(E) = -84                         06 : det(F) = -46 
    07 : m*det(C)-det(pE) = 114               08 : det(m*D)-p*det(F) = 1369
    09 : x = 2                                10 : y = -3   
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    12 : det(A) = -4     x = 7      y = -5    
    13 : det(A) = 27     x = 7      y = 5     
    14 : det(A) = -22    x = 7      y = 2      z = -5    
    15 : det(A) = 9      x = -4     y = 2      z = -7    
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    01 : det(A) = -8                          02 : det(B) = 7   
    03 : det(C) = 61                          04 : det(D) = -5  
    05 : det(E) = 5                           06 : det(F) = -130
    07 : m*det(C)-det(pE) = 143               08 : det(m*D)-p*det(F) = 215 
    09 : x = 3                                10 : y = 2    
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    12 : det(A) = -6     x = 4      y = 3     
    13 : det(A) = -25    x = 6      y = -2    
    14 : det(A) = 5      x = -6     y = -2     z = -3    
    15 : det(A) = -3     x = 3      y = 4      z = -7    
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    01 : det(A) = -8                          02 : det(B) = -8  
    03 : det(C) = 58                          04 : det(D) = 51  
    05 : det(E) = -52                         06 : det(F) = -12 
    07 : m*det(C)-det(pE) = 590               08 : det(m*D)-p*det(F) = 483 
    09 : x = -3                               10 : y = 2    
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    12 : det(A) = -6     x = 3      y = -7    
    13 : det(A) = 12     x = 2      y = 6     
    14 : det(A) = 15     x = -2     y = 3      z = -7    
    15 : det(A) = -9     x = 3      y = -2     z = 4     
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    01 : det(A) = 11                          02 : det(B) = 8   
    03 : det(C) = 52                          04 : det(D) = 66  
    05 : det(E) = -44                         06 : det(F) = 112 
    07 : m*det(C)-det(pE) = 2920              08 : det(m*D)-p*det(F) = -184
    09 : x = 2                                10 : y = -2   
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    12 : det(A) = 16     x = 5      y = -4    
    13 : det(A) = 6      x = -4     y = 6     
    14 : det(A) = 7      x = 8      y = 5      z = -4    
    15 : det(A) = -4     x = 6      y = 7      z = 4     
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    01 : det(A) = -15                         02 : det(B) = -15 
    03 : det(C) = -37                         04 : det(D) = 31  
    05 : det(E) = 24                          06 : det(F) = 18  
    07 : m*det(C)-det(pE) = -172              08 : det(m*D)-p*det(F) = 478 
    09 : x = -3                               10 : y = 3    
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    12 : det(A) = -8     x = -8     y = 7     
    13 : det(A) = 4      x = -7     y = -5    
    14 : det(A) = -21    x = -8     y = -5     z = -7    
    15 : det(A) = -16    x = 5      y = 7      z = -8    
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